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31 åÎÏÐk���Ò 45000ª¯�ÓÏÐ·�k~ �
3�2001ä 1 j 1 å{�À¤¿àá	­kÎÏÐ
ÓÏÐk¤¿±Ç�| 220000ª{2001ä 12

j
31 å{ÎÏÐ
ÓÏÐk¿±r�| 120000 ª{ÎÏÐ÷±Ç�ã�
k10Ô�û�ì��~ 

     ����
1������kgh¬�z�{�zÎÏÐ�½�ÏÐ 2001 ä 12

j
31 åÉöuv���k��� ~�!"Þß¤¿kÙÚ#êk��� É$%&%'(� �

2�)* 2001 ä�ÓÏÐ%î�+| 150000 ª{�÷,��-.�/ÀÉö0123k��{�4��ÓÏÐî�+�56Û78È±9Ò¿� �:56Û7ÇÈ��¯;5~
 

    <<<<====>1?@A 2001BCDEFGHIJKLMNO 
          1999PQRSTUVWSTUVXYZ[ 800 000\550 000=250 000]W^ 2000P_

2001P`abcd250 000e5=50 000]f 
          ghijklmno                  250 000 
            phSTUVXY                        250 000 
          ghqacd                          50 000 
             phPjklmno                       50 000 
          ghqacd                          50 000 
             phrstu                              50 000 
           2001PvwxyzwxQRV{200 000]WzwxPj|}~� 60 000]�v��W|}�Z

60 000�20%=12 000]Wi�|}� 45 000]�v��W|}�Z 45 000�20%=9 
000]Wi�|}�ij|}�Z�l�� 3 000]f 

           ghPjklm��                  12 000 
             ph|}                                 12 000 
           gh������                     200 000 
             ph������                         200 000 
           gh|}                             3 000 
              ph������                          3 000 

2001P������ij���220 000]Wij�������220 000�10%=22 000]Wi�������� 120 000]W������� 120 000�10%=12 000Wi������ij��
10 000]f gh����                          22 000 

  phijklmno                          22 000 
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�
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